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PR SR B A B
EEHEOEEH +2.77 HA/kWh | 1EEHRR 0.233 F/kWh
S EHRBOBER +2.65 F/kWh EE 0.223 F/kWh
BAESEHRBAOEER|  +2.62 A/kwh 15 31 E AR 0.220 F/kWh
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BEEHBDEES TR AP HAEHE PR B SRR B
PRH B =( 57,800 — 45900 ) X 0.233 = 1000 = 277
aEEHRBEnEES TR HAE PR A PR R B T
PRE BB M=( 57,800 — 45900 ) X 0.223 = 1000 = 4265
HASEEEDSEE TR HEPRAH TS e TR R
PRH BB M=( 57,800 — 45900 ) X 0.220 = 1,000 = +2.62
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R B 2 2 B il % 4]
= EHRBDOBER +2.41 FH/kwh EERA 0.203 F/kWh
HilEEEAOEER| —+2.38 A/wh 57 FE A 0.200 F/kWh
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BXHL0ES TAIPRH TS HEPREH T B PR B
PRE BB M=( 57,800 - 45900 ) X 0.203 = 1,000 = 4241

A EERADES TP HAEPRT A PR BT B
PRE BB M=( 57,800 - 45900 ) X 0.200 =~ 1000 = 4238
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HAERBHEE PR FHEAE
(201346~2013481) 202242 ~20225 4R
4 RGBS 65,706 F/kL 71,321 H/kL
NG 82,406 A/t 93,914 M/t
FEH A RAMmE 10,702 M/t 25,443 A/t
R FHE A 45,900 A/kL 57,800 F/kL
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EHBREHIAR =FHERME X o +FHLNGHEIE X 8 +FHRRME X v

a: 0.0275

B: 0.4792

7 0.4275
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